~101st #ilz2100FA~

Z-PROFY>NR-> HE15# WREm—ExR

2024448 HASHPEDIOSZFULIY-EX

A=h— A=h—
[GLmEdN At L AL AmI-—R [Glre L A

oAt oAt
1101101035 VUSP P2 M3X0.5 2,900 1201101116 VUSP CH P3 M16X1.5 18,500
1101201035 VUSP P3 M3X0.5 +15 2,900 1102101021 VUPO P2 M2X0.4 3,780
1101101036 VUSP P2 M3X0.35 4,070 1102101024 VUPO P2 M2.2X0.45 3,550
1101101042 VUSP P2 M4X0.7 2,850 1102101026 VUPO P2 M2.3X0.4 3,550
1101201042 VUSP P3 M4X0.7 +20 2,850 1102101029 VUPO P2 M2.5X0.45 3,200
1101101043 VUSP P2 M4X0.5 3,560 1102101032 VUPO P2 M2.6X0.45 3,200
1101101049 VUSP P2 M5X0.8 2,880 1102101035 VUPO P2 M3X0.5 2,900
1101201049 VUSP P3 M5X0.8 +20 2,880 1102201035 VUPO P3 M3X0.5 +15 2,900
1101101051 VUSP P2 M5X0.5 3,690 1102101036 VUPO P2 M3X0.35 4,070
1101101055 VUSP P2 M6X1 3,180 1102101042 VUPO P3 M4X0.7 2,850
1101201055 VUSP P3 M6X1 +20 3,180 1102201042 VUPO P4 M4X0.7 +20 2,850
1101101056 VUSP P2 M6X0.75 4,190 1102101043 VUPO P2 M4X0.5 3,560
1101101057 VUSP P2 M6X0.5 4,190 1102101049 VUPO P3 M5X0.8 2,880
1101101064 VUSP P3 M8X1.25 4,190 1102201049 VUPO P4 M5X0.8 +20 2,880
1101201064 VUSP P4 M8X1.25 +20 4,190 1102101051 VUPO P2 M5X0.5 3,690
1101101065 VUSP P3 M8X1 4,950 1102101055 VUPO P3 M6X1 3,180
1101101078 VUSP P3 M10X1.5 5,290 1102201055 VUPO P4 M6X1 +20 3,180
1101201078 VUSP P4 M10X1.5 +20 5,290 1102101056 VUPO P2 M6X0.75 4,190
1101101079 VUSP P3 M10X1.25 5,290 1102101057 VUPO P2 M6X0.5 4,190
1101201079 VUSP P4 M10X1.25 +20 5,290 1102101064 VUPO P3 M8X1.25 4,190
1101101080 VUSP P3 M10X1 6,280 1102201064 VUPO P4 M8X1.25 +20 4,190
1101101088 VUSP P4 M12X1.75 6,900 1102101065 VUPO P3 M8X1 4,950
1101201088 VUSP P5 M12X1.75 +20 6,900 1102101078 VUPO P3 M10X1.5 5,290
1101101089 VUSP P3 M12X1.5 6,900 1102201078 VUPO P4 M10X1.5 +20 5,290
1101201089 VUSP P4 M12X1.5 +20 6,900 1102101079 VUPO P3 M10X1.25 5,290
1101101090 VUSP P3 M12X1.25 6,900 1102201079 VUPO P4 M10X1.25 +20 5,290
1101201090 VUSP P4 M12X1.25 +20 6,900 1102101080 VUPO P3 M10X1 6,280
1101101100 VUSP P4 M14X2 9,450 1102101088 VUPO P4 M12X1.75 6,900
1101201100 VUSP P5 M14X2 +20 9,450 1102201088 VUPO P5 M12X1.75 +20 6,900
1101101102 VUSP P3 M14X1.5 9,450 1102101089 VUPO P3 M12X1.5 6,900
1101201102 VUSP P4 M14X1.5 +20 9,450 1102201089 VUPO P4 M12X1.5 +20 6,900
1101101114 VUSP P4 M16X2 12,300 1102101090 VUPO P4 M12X1.25 6,900
1101201114 VUSP P5 M16X2 +20 12,300 1102201090 VUPO P5 M12X1.25 +20 6,900
1101101116 VUSP P3 M16X1.5 12,300 1102101100 VUPO P4 M14X2 9,450
1101201116 VUSP P4 M16X1.5 +20 12,300 1102201100 VUPO P5 M14X2 +20 9,450
1101101128 VUSP P5 M18X2.5 15,500 1102101102 VUPO P3 M14X1.5 9,450
1101101130 VUSP P4 M18X1.5 15,500 1102201102 VUPO P4 M14X1.5 +20 9,450
1101101141 VUSP P5 M20X2.5 22,400 1102101114 VUPO P4 M16X2 12,300
1101101144 VUSP P4 M20X1.5 22,400 1102201114 VUPO P5 M16X2 +20 12,300
1101101156 VUSP P5 M22X2.5 27,000 1102101116 VUPO P3 M16X1.5 12,300
1101101158 VUSP P4 M22X1.5 27,000 1102201116 VUPO P4 M16X1.5 +20 12,300
1101101167 VUSP P5 M24X3 32,900 1102101128 VUPO P5 M18X2.5 15,500
1101101170 VUSP P4 M24X1.5 32,900 1102101130 VUPO P4 M18X1.5 15,500
2101101035 VUSP L100 P2 M3X0.5 5,260 1102101141 VUPO P5 M20X2.5 22,400
2101101042 VUSP L100 P2 M4X0.7 4,800 1102101144 VUPO P4 M20X1.5 22,400
2101101049 VUSP L100 P2 M5X0.8 4,310 1102101156 VUPO P5 M22X2.5 27,000
2101101055 VUSP L100 P2 M6X1 4,410 1102101158 VUPO P4 M22X1.5 27,000
2101101056 VUSP L100 P2 M6X0.75 5,520 1102101167 VUPO P5 M24X3 32,900
2101101064 VUSP L150 P3 M8X1.25 7,600 1102101170 VUPO P4 M24X1.5 32,900
2101101065 VUSP L150 P3 M8X1 8,740 2102101035 VUPO L100 P2 M3X0.5 5,260
2101101078 VUSP L150 P3 M10X1.5 8,890 2102101042 VUPO L100 P3 M4X0.7 4,800
2101101079 VUSP L150 P3 M10X1.25 8,890 2102101049 VUPO L100 P3 M5X0.8 4,310
2101101080 VUSP L150 P3 M10X1 10,300 2102101055 VUPO L100 P3 M6X1 4,410
2101101088 VUSP L150 P4 M12X1.75 10,600 2102101056 VUPO L100 P2 M6X0.75 5,520
2101101089 VUSP L150 P3 M12X1.5 10,600 2102101064 VUPO L150 P3 M8X1.25 7,600
2101101090 VUSP L150 P3 M12X1.25 10,600 2102101065 VUPO L150 P3 M8X1 8,740
2101101100 VUSP L150 P4 M14X2 14,200 2102101078 VUPO L150 P3 M10X1.5 8,890
2101101102 VUSP L150 P3 M14X1.5 14,200 2102101079 VUPO L150 P3 M10X1.25 8,890
2101101114 VUSP L150 P4 M16X2 14,900 2102101080 VUPO L150 P3 M10X1 10,300
2101101116 VUSP L150 P3 M16X1.5 14,900 2102101088 VUPO L150 P4 M12X1.75 10,600
1103101035 VUSP 1.5P P2 _M3X0.5 2,900 2102101089 VUPO L150 P3 M12X1.5 10,600
1103101042 VUSP 1.5P P2 M4X0.7 2,850 2102101090 VUPO L150 P4 M12X1.25 10,600
1103101049 VUSP 1.5P P2 M5X0.8 2,880 2102101100 VUPO L150 P4 M14X2 14,200
1103101055 VUSP 1.5P P2 M6X1 3,180 2102101102 VUPO L150 P3 M14X1.5 14,200
1103101064 VUSP 1.5P P3 M8X1.25 4,190 2102101114 VUPO L150 P4 M16X2 14,900
1103101078 VUSP 1.5P P3 M10X1.5 5,290 2102101116 VUPO L150 P3 M16X1.5 14,900
1103101079 VUSP 1.5P P3 M10X1.25 5,290 SY3.0GREEX] HVSP P3 M3X0.5 1,400
1103101088 VUSP 1.5P P4 M12X1.75 6,900 SY3.0DREEX] HVSP P3 M3X0.35 2,390
1103101089 VUSP 1.5P P3 M12X1.5 6,900 SY4.0ISEEX] HVSP P4 M4X0.7 1,400
1103101090 VUSP 1.5P P3 M12X1.25 6,900 SY4.0GSEEX] HVSP P4 M4X0.5 2,050
1103101100 VUSP 1.5P P4 M14X2 9,450 SY5.0KSEEX] HVSP P4 M5X0.8 1,410
1103101102 VUSP 1.5P P3 M14X1.5 9,450 SY5.0GSEEX] HVSP P4 M5X0.5 2,050
1103101114 VUSP 1.5P P4 M16X2 12,300 SY6.0MSEEX] HVSP P4 M6X1 1,610
1103101116 VUSP 1.5P P3 M16X1.5 12,300 SY6.0]JSEEX] HVSP P4 M6X0.75 2,270
1201101055 VUSP CH P2 M6X1 4,770 SY6.0GSEEX] HVSP P4 M6X0.5 2,270
1201101064 VUSP CH P3 M8X1.25 6,290 SY8.0NSEEX] HVSP P4 M8X1.25 2,270
1201101078 VUSP CH P3 M10X1.5 7,940 SY8.0MSEEX] HVSP P4 M8X1 2,580
1201101079 VUSP CH P3 M10X1.25 7,940 SYO100SEEXJ |HVSP P4 M10X1.5 2,970
1201101088 VUSP CH P4 M12X1.75 10,400 SYO10NSEEXJ |HVSP P4 M10X1.25 2,970
1201101090 VUSP CH P3 M12X1.25 10,400 SYO10MSEEXJ |HVSP P4 M10X1 3,520
1201101100 VUSP CH P4 M14X2 14,200 SYO012PSEEX] HVSP P4 M12X1.75 4,000
1201101102 VUSP CH P3 M14X1.5 14,200 SYO0120SEEXJ |HVSP P4 M12X1.5 4,000
1201101114 VUSP CH P4 M16X2 18,500 SYO12NSEEXJ |HVSP P4 M12X1.25 4,000




~101st IR 100FEA~ Z-PROFr>R—> 13 WRER—ER 2024448 HASHPEDIOSZFULIY-EX

X—h— X—h—
mEmd1—-R Em wE ARE mmd—R (Sl wE AE

INFEAAE INFEAIAE
SYO14QSEEX]  |HVSP P4 M14X2 5,470 2109101042 |MHSL L100 P3_M4X0.7 4,800
SYO140SEEX]  |HVSP P4 M14X1.5 5,470 2109101045  |MHSL L100 P3_M4.5X0.75 5,390
SYO16QSEEX]  |HVSP P4 M16X2 7,300 2109101049 |MHSL L100 P3_M5X0.8 4,310
SYO160SEEX]  |HVSP P4 M16X1.5 7,300 2109101051 |MHSL L100 P3_M5X0.5 5,390
SYO1BRTEEXJ |HVSP P5 M18X2.5 9,760 1111101055  |MHRZ G8 M6X1 B 4,620
SYO1BOTEEX] |HVSP P5 M18X1.5 9,760 1110101055 |MHRZ G8 M6X1 P 4,620
SYO20RTEEXJ |HVSP P5 M20X2.5 13,300 1111101064 |MHRZ G8 M8X1.25 B 6,080
SY0200TEEX] |HVSP P5 M20X1.5 13,300 1110101064 |MHRZ G8 M8X1.25 P 6,080
SY022RTEEXJ  |HVSP P5 M22X2.5 16,800 1111101078 |MHRZ G8 M10XL.5 B 7,680
SY0220TEEX]  |HVSP P5 M22X1.5 16,800 1110101078 |MHRZ G8 M10X1.5 P 7,680
SY024STEEXJ  |HVSP P5 M24X3 21,000 1111101079 |MHRZ G8 MI10X1.25 B 7,680
SY0240TEEX]  |HVSP P5 M24X1.5 21,000 1110101079 |MHRZ G8 MI10X1.25 P 7,680
SYU16XTEEX] |HVSP P5 1-8UNC 32,600 1111101088 |MHRZ G8 M12X1.75 B 10,100
SYU16SSEEX]  |HVSP P4 1-12UNF 32,600 1110101088 |MHRZ G8 M12X1.75 P 10,100
1112201064 |HVSP ZP P4+0.1 M8XL1.25 2,960 1111101089 |MHRZ G8 MI12X1.5 B 10,100
1112401064 |HVSP ZP P4+0.3 M8XL1.25 2,960 1110101089 |MHRZ G8 MI12X1.5 P 10,100
1112301064 |HVSP ZP P4+0.2 M8XL1.25 2,960 1111101090 |MHRZ G8 M12X1.25 B 10,100
1112201078 |HVSP ZP P4+0.1 MI10XL.5 3,870 1110101090 _ |MHRZ G8 M12X1.25 P 10,100
1112301078 |HVSP ZP P4+0.2 M10XL.5 3,870 1111101102 |MHRZ G9 M14X1.5 B 13,800
1112401078 |HVSP ZP P4+0.3 MI10XL.5 3,870 1110101102 |MHRZ G9 M14X1.5 P 13,800
1112201088 |HVSP ZP P4+0.1 M12X1.75 5,200 1111101116 |MHRZ G9 M16X1.5 B 17,900
1112301088 |HVSP ZP P4+0.2 M12X1.75 5,200 1110101116 |MHRZ G9 M16X1.5 P 17,900
1112401088 |HVSP ZP P4+0.3 M12X1.75 5,200 1111101130 |MHRZ G10 M18X1.5 B 22,500
1112201100 |HVSP ZP P4+0.1 M14X2 7,120 1110101130 |MHRZ G10 M18X1.5 P 22,500
1112301100 |HVSP ZP P4+0.2 M14X2 7,120 1111101144 |MHRZ G10 M20X1.5 B 32,500
1112401100 |HVSP ZP P4+0.3 M14X2 7,120 1110101144 |MHRZ G10 M20X1.5 P 32,500
1112201114 |HVSP ZP P4+0.1 M16X2 9,490 2111101055 |MHRZ L100 G8 M6X1 B 5,960
1112301114 |HVSP ZP P4+0.2 M16X2 9,490 2110101055  |MHRZ L100 G8 M6X1 B 5,960
1112401114 |HVSP ZP P4+0.3 M16X2 9,490 2311101055 |MHRZ L150 G8 M6X1 B 8,600
1112201128 |HVSP ZP P5+0.1 M18X2.5 12,700 2310101055 |MHRZ L150 G8 M6X1 B 8,600
1112301128 |HVSP ZP P5+0.2 M18X2.5 12,700 2111101064 |MHRZ L150 G8 M8X1.25 B 10,300
1112401128 |HVSP ZP P5+0.3 M18X2.5 12,700 2110101064 |MHRZ L150 G8 M8X1.25 B 10,300
1112201141 |HVSP ZP P5+0.1 M20X2.5 17,300 2111101078 |MHRZ L150 G8_M10X1.5 B 12,100
1112301141 |HVSP ZP P5+0.2 M20X2.5 17,300 2110101078 |MHRZ L150 G8 M10X1.5 B 12,100
1112401141 |HVSP ZP P5+0.3 M20X2.5 17,300 2111101079 |MHRZ L150 G8_M10X1.25 B 12,100
1112201156 |HVSP ZP P5+0.1 M22X2.5 21,900 2110101079 |MHRZ L150 G8_M10X1.25 B 12,100
1112301156 |HVSP ZP P5+0.2 M22X2.5 21,900 2111101088 |MHRZ L150 G8 M12X1.75 B 14,400
1112401156 |HVSP ZP P5+0.3 M22X2.5 21,900 2110101088 |MHRZ L150 G8 M12X1.75 B 14,400
1112201167 |HVSP ZP P5+0.1 M24X3 27,300 2111101089  |MHRZ L150 G8 M12X1.5 B 14,400
1112301167 |HVSP ZP P5+0.2 M24X3 27,300 2110101089  |MHRZ L150 G8 M12X1.5 B 14,400
1112401167 |HVSP ZP P5+0.3 M24X3 27,300 2111101090 |MHRZ L150 G8 M12X1.25 B 14,400
1113101035 |HVPO P3 M3X0.5 1,400 2110101090  |MHRZ L150 G8 M12X1.25 B 14,400
1113101042 |HVPO P3 M4X0.7 1,400 2111101102 |MHRZ L150 G9 M14X1.5 B 19,200
1113101049 |HVPO P3 M5X0.8 1,410 2110101102 |MHRZ L150 G9 M14X1.5 B 19,200
1113101055 |HVPO P3 M6XL 1,610 2111101116 |MHRZ L150 G9 M16X1.5 B 20,200
1113101064 |HVPO P3 M8X1.25 2,270 2110101116 |MHRZ L150 G9 M16X1.5 B 20,200
1113101078 |HVPO P4 M10X1.5 2,970 SIRCOLOFET _ |AUSP RC(PT)1/16-28 6,160
1113101079 |HVPO P3 M10X1.25 2,970 SIRCO20FET __ |AUSP RC(PT)1/8-28 6,160
1113101088 |HVPO P4 M12X1.75 4,000 SIRCO40FET __ |AUSP RC(PT)1/4-19 9,180
1113101100 |HVPO P4 M14x2 5,470 SIRCOG0FET __ |AUSP RC(PT)3/8-19 14,400
1113101114 |HVPO P4 M16X2 7,300 SIRCOBOFET __ |AUSP RC(PT)1/2-14 22,800
SY8.ONSOCLJ _ |MHSP P4 M8X1.25 4,720 SIRC120FET __ |AUSP RC(PT)3/4-14 37,800
SY0100SOCL] |MHSP P4 M10X1.5 5,460 SIRCI60FET _ |AUSP RC(PT)1-11 67,700
SYO10NSOCLJ |MHSP P4 M10X1.25 5,460 SIRCO20FETG  |AUSP L150 RC(PT)1/8-28 14,300
SY010MSOCLJ |MHSP P4 M10X1 6,490 SIRCO40FETG  |AUSP L150 RC(PT)1/4-19 16,500
SY012PSOCL]  |MHSP P4 M12X1.75 7,830 SIRCO60FETG  |AUSP L150 RC(PT)3/8-19 24,300
SY0120SOCL] |MHSP P4 M12X1.5 7,830 SIRPO20FET __ |AUSP RP(PS)1/8-28 5,060
SYO12NSOCLJ |MHSP P4 M12X1.25 7,830 SIRPO40FET __ |AUSP RP(PS)1/4-19 7,530
SY014QTOCL] |MHSP P5 M14X2 10,900 SIRPOGOFET __ |AUSP RP(PS)3/8-19 11,900
SY0140SOCL] |MHSP P4 M14X1.5 10,900 SIRPOBOFET __ |AUSP RP(PS)1/2-14 18,700
SY016QTOCL] |MHSP P5 M16X2 14,100 SIRP120FET __ |AUSP RP(PS)3/4-14 31,000
SY0160SOCL] |MHSP P4 M16X1.5 14,100 SIRPIGOFET _ |AUSP RP(PS)1-11 55,600
1109101021 |MHSL P2 M2X0.4 3,780 SIGOO20FET __ |AUSP P3  G(PF)1/8-28 5,060
1109101029 |MHSL P3 M2.5X0.45 3,200 SIGOO40FET __ |AUSP P3.5 G(PF)1/4-19 7,530
1109101035 |MHSL P3 M3X0.5 2,900 SIGOO60FET __ |AUSP P3.5 G(PF)3/8-19 11,900
1109101038 |MHSL P3 M3.5X0.6 2,900 SIGOOSOFET __ |AUSP P4 G(PF)1/2-14 18,700
1109101042 |MHSL P3 M4X0.7 2,850 SIGO120FET _ |AUSP P4 G(PF)3/4-14 31,000
1109101045 |MHSL P3 M4.5X0.75 3,690 SIGO160FET _ |AUSP P5 G(PF)1-11 55,600
1109101049 |MHSL P3 M5X0.8 2,880 MH3.5KNEXLM |PRML __ 3.5P0.8 16,200
1109101051 |MHSL P3 M5X0.5 3,690 MH4.0MNEXLM |PRML __ 4.0P1.0 16,200
1109101055  |MHSL P3 M6XL 3,180 MH4.0JNEXLM _|PRML __ 4.0P0.75 16,200
1109101064  |MHSL P4 M8X1.25 4,720 MH6.ONNEXLM |PRML __ 6.0P1.25 22,100
1109101078 |MHSL P4 M10X1.5 5,460 MH6.0MNEXLM |PRML __ 6.0P1.0 22,100
1109101079 |MHSL P4 M10X1.25 5,460 MH7.50NEXLM |PRML __ 7.5P1.5 23,100
1109101088 |MHSL P5 M12X1.75 7,830 MH7.5NNEXLM |PRML __ 7.5P1.25 23,100
1109101089 |MHSL P5 M12X1.5 7,830 MH7.5MNEXLM |PRML __ 7.5P1.0 23,100
1109101090 |MHSL P5 M12X1.25 7,830 MH9.0PNEXLM |PRML _ 9.0P1.75 26,400
1109101102 |MHSL P5 M14X1.5 10,900 MH9.00NEXLM |PRML _ 9.0P1.5 26,400
1109101116 |MHSL P5 M16X1.5 14,100 MH9.ONNEXLM |PRML _ 9.0P1.25 26,400
2209101021 |MHSL L100 P2 M2X0.4 10,200 MH3.5MNEXLU |PRML _ 3.5U24 16,200
2209101029 |MHSL L100 P3_M2.5X0.45 6,320 MH3.5)NEXLU |PRML _ 3.5U32 16,200
2109101035  |MHSL L100 P3_M3X0.5 5,260 MH4.5NNEXLU |PRML __ 4.5U20 17,900
2109101038 |MHSL L100 P3 M3.5X0.6 5,260 MH4.5KNEXLU |PRML __ 4.5U28 17,900




~101st IR 100FEA~ Z-PROFr>R—> 13 WRER—ER 2024448 HASHPEDIOSZFULIY-EX

A=h— A=h—
[GLmEdN At L AL AmI-—R [Glre L A
oAt oAt
MHS5.80NEXLU  [PRML 5.8U18 22,100
MHS5.8MNEXLU [PRML 5.8U24 22,100
MH6.0PNEXLU  [PRML 6.0U16 22,100
MH8.0QNEXLU [PRML 8.0U14 23,100
MH8.0NNEXLU  [PRML 8.0U20 23,100
MH9.0RNEXLU [PRML 9.0U13 26,400
MH1.5ENIWLM [PRML TI 1.5P0.4 21,400
MH1.7FNIWLM [PRML TI 1.7P0.45 21,400
MH2.4GNIWLM [PRML TI  2.4P0.5 17,800
MH3.1INIWLM  [PRML TI 3.1P0.7 17,800
MH3.5KNIWLM [PRML TI 3.5P0.8 16,200
MH4.0MNIWLM [PRML TI 4.0P1.0 16,200
MH4.0JNIWLM _ [PRML TI 4.0P0.75 16,200
MH6.0NNIWLM [PRML TI  6.0P1.25 20,200
MH6.0MNIWLM [PRML TI 6.0P1.0 20,200
MH7.50NIWLM [PRML TI 7.5P1.5 21,100
MH7.5NNIWLM [PRML TI  7.5P1.25 21,100
MH7.5MNIWLM [PRML TI 7.5P1.0 21,100
MH9.0PNIWLM [PRML TI 9.0P1.75 24,100
MH9.00NIWLM [PRML TI 9.0P1.5 24,100
MH9.0NNIWLM [PRML TI 9.0P1.25 24,100
MHS5.80NIWLU [PRML TI 5.8U18 20,200
MHS5.8MNIWLU [PRML TI 5.8U24 20,200
MH6.0PNIWLU  [PRML TI  6.0U16 20,200
MH8.0QNIWLU [PRML TI 8.0U14 21,100
MH8.0NNIWLU [PRML TI 8.0U20 21,100

MH9.0RNIWLU [PRML TI 9.0U13 24,100




